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Figure S6: Inspection of the ASCAT solution vs. the 
Sequenza solution in ovarian cancer patient 
TCGA-09-2044.  
In this tumor, the ASCAT solution is near-diploid, 
whereas the Sequenza solution is near-tetraploid. The 
ploidy estimation from Sequenza is largely driven by a 
few segments that fit the tetraploid solution but not the 
diploid (arrow). Although it is difficult to be certain, we 
believe the ASCAT solution is correct here, and that the 
outlier segments could be due to the presence of a 
subclonal population with copy number changes in 
these segments.
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Figure S7: Inspection of the ASCAT solution vs. the 
Sequenza solution in renal cancer patient TCGA-
AK-3426. 
Here, the Sequenza 95% confidence region includes 3 
different solutions, one of which is the solution 
estimated by ASCAT. This uncertainty in the Sequenza 
estimate probably results from the low cellularity in this 
specimen.
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Figure S8: Inspection of the ASCAT solution vs. the 
Sequenza solution in renal cancer patient TCGA-
B0-5697. 
As in Figure S7, this specimen has low cellularity and 
is thus difficult for either ASCAT or Sequenza to 
estimate. The disagreement here is similar to that in 
Figure S6, except that the calls are reversed: ASCAT 
calls tetraploid and Sequenza calls diploid. We believe 
the diploid to be more likely. 


